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L1-SVM Example

L1-SVM, C = 316.2278
T
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L1-SVM Example

L1-SVM, C = 309.0295
T
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L1-SVM Example

L1-SVM, C = 301.9952
T
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L1-SVM Example

L1-SVM, C = 295.1209
T
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L1-SVM Example

L1-SVM, C = 288.4032
T
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L1-SVM Example

L1-SVM, C = 281.8383
T
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L1-SVM Example

L1-SVM, C = 275.4229
T
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L1-SVM Example

L1-SVM, C = 269.1535
T
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L1-SVM Example

L1-SVM, C = 263.0268
T
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L1-SVM Example

L1-SVM, C = 257.0396
T
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L1-SVM Example

L1-SVM, C = 251.1886
T
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L1-SVM Example

L1-SVM, C = 245.4709
T
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L1-SVM Example

L1-SVM, C = 239.8833
T
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L1-SVM Example

L1-SVM, C = 234.4229
T
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L1-SVM Example

L1-SVM, C = 229.0868
T
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L1-SVM Example

L1-SVM, C = 223.8721
T
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L1-SVM Example

L1-SVM, C = 218.7762
T
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L1-SVM Example

L1-SVM, C = 213.7962
T
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L1-SVM Example

L1-SVM, C = 208.9296
T
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L1-SVM Example

L1-SVM, C = 204.1738
T
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L1-SVM Example

L1-SVM, C = 199.5262
T
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L1-SVM Example

L1-SVM, C = 194.9845
T
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L1-SVM Example

L1-SVM, C = 190.5461
T
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L1-SVM Example

L1-SVM, C = 186.2087
T
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L1-SVM Example

L1-SVM, C = 181.9701
T
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L1-SVM Example

L1-SVM, C = 177.8279
T
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L1-SVM Example

L1-SVM, C = 173.7801
T
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L1-SVM Example

L1-SVM, C = 169.8244
T
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L1-SVM Example

L1-SVM, C = 165.9587
T
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L1-SVM Example

L1-SVM, C = 162.1810
T
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L1-SVM Example

L1-SVM, C = 158.4893
T
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L1-SVM Example

L1-SVM, C = 154.8817
T
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L1-SVM Example

L1-SVM, C = 151.3561
T
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L1-SVM Example

L1-SVM, C = 147.9108
T
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L1-SVM Example

L1-SVM, C = 144.5440
T
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L1-SVM Example

L1-SVM, C = 141.2538
T
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L1-SVM Example

L1-SVM, C = 138.0384
T
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L1-SVM Example

L1-SVM, C = 134.8963
T
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L1-SVM Example

L1-SVM, C = 131.8257
T
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L1-SVM Example

L1-SVM, C = 128.8250
T
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L1-SVM Example

L1-SVM, C = 125.8925
T
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L1-SVM Example

L1-SVM, C = 123.0269
T
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L1-SVM Example

L1-SVM, C = 120.2264
T
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L1-SVM Example

L1-SVM, C = 117.4898
T
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L1-SVM Example

L1-SVM, C = 114.8154
T
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L1-SVM Example

L1-SVM, C =112.2018
T
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L1-SVM Example

L1-SVM, C = 109.6478
T
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L1-SVM Example

L1-SVM, C = 107.1519
T
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L1-SVM Example

L1-SVM, C = 104.7129
T
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L1-SVM Example

L1-SVM, C = 102.3293
T
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L1-SVM Example

L1-SVM, C = 100.0000
T
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L1-SVM Example

L1-SVM, C = 97.7237
T
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L1-SVM Example

L1-SVM, C = 95.4993
T
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L1-SVM Example

L1-SVM, C = 93.3254
T

6
)
4l
.
° ‘o
. . °
2 . ‘o .
0o o0 .
e ° e ® o °
L]
.
. o
R P L] °
0 ian Caa -
° oo
° o °
. "'\.o
-2 ° o. ..... °
. .
. . )
. .
4l o %
-6 Il Il Il L




L1-SVM Example

L1-SVM, C =91.2011
T
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L1-SVM Example

L1-SVM, C = 89.1251
T

6
)
4l
.
° ‘o
. . °
2 . ‘o .
0o o0 .
e ° e ® o °
L]
.
. o
R P L] °
0 ian Caa -
° oo
° o °
. "'\.o
-2 ° o. ..... °
. .
. . )
. .
4l o %
-6 Il Il Il L




L1-SVM Example

L1-SVM, C = 87.0964
T
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L1-SVM Example

L1-SVM, C = 85.1138
T
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L1-SVM Example

L1-SVM, C = 83.1764
T
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L1-SVM Example

L1-SVM, C = 81.2831
T
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L1-SVM Example

L1-SVM, C = 79.4328
T
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L1-SVM Example

L1-SVM, C = 77.6247
T
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L1-SVM Example

L1-SVM, C = 75.8578
T
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